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60% от 110какой% 
составляет

3 от 15

число, если 
20% - это 615% от 40
число, если
25% - это 12

процентное 
отношение 

 2 к 5

число, если 
его 5%-это 7            
20% от 45
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НАЙТИ



УСТНЫЙ
 МАТЕМАТИЧЕСКИЙ 

ДИКТАНТ



Найти устно
 и 

записать ответ



      В – I              Найти          В – II

1) 20% от 55         1) 20% от 65
            число, если его
2) 5% - это 6        2) 5% - это 7 

      процентное отношение 
  3) 3 к 5                    3) 2 к 54) 25% от 28         4) 25% от 36
           число, если его
5) 10% - это 17    5) 10% - это 19

       кокой % составляет  
6) 8 от 25                6) 7 от 257) 5% от 80              7) 5% от 60
           число, если его 
8) 50% - это 3,2     8) 50% - это 4,3 9) 40% от 20        9) 60% от 30

       какую часть составляет

10)  32 от 40          10) 24 от 40



с последних парт
 передаём работы

 по вариантам


